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Quuult wowpluyh wijwbnudp Quithh puwl | Uhwyn | Cugu Qud
Uhuwnp wl | ph ukup wl
Lujuw
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p 3 4 5 6 7 8
1. wwypwlplbkp
Juinkhp
1.1 Pkughlti nhgnijjup 1hwp 300 | 333.33 | 100000 FC
Stnbuwljub wypwbpkp
| Stnbuwluwh dwppnn b jdwgnn nipkp 50000 PC
2.2 GpEhwfwb yhwunypukp 50000 P
wynnyuwhbunwdwukp

3.1 Ujunyuwhbunwdwubp b Jkpuwbinpngnud 200000 PC

Zudwlupgswihb Swpuynipniiibp
4.1 Zudwlunghs,plipwghly tinpngnid 20000 PC
4.2 Zudwljupgswihb Wynipbph (hgpuynpnud 30000 P

Pdojuljuil b hwpyuywhwljuih dlikp
5.1 3 uwynp ghpp Zun 1 2500 2500 e
5.2 Uohuwwnujupdh ghpp Zuwn 1 2500 2500 PC
5. tennpuyph ghpp Zuwn 2 2500 5000 PLC
5.4 gnypudwunjul hwwn 2 1500 3000 P
5.5 1S-US ghpp Zuin 2 1500 3000 PC
5.6 Spuuklywljuyht ghpp Zun 15 600 9000 PC
< ) TEnuwnnuu pljiophtwlyny Zuwn 5500 | 18 90000 P
5.8 Unuunph wwypwipwghp Yplyhophtiwngd Zuwn 300 |18 5400 IS
59 Uoluwnwywpdh gniguily Zun 20 25 500 P
.40 Uoluwnwdwdwbwlh wnwpky huwwn 20 25 500 PC
p 3| Upwugquljup huwiwn 30 100 3000 BE
5.12 Uquun gpudw hwwn 250 | 25 6250 PC
215 Oninpe nyugpuljub wnntth 5 2400 12000 FC
5.14 UUM uygkph Zuin 5000 |9 45000 PC
505 Upjul wlwhgh dl Zuwn 1200 | 5 6000 PC
5.16 Utigh wlwihgh al Zuwn 1500 |5 7500 gL
5.17 Fhnphuhwljul whwyhgh &l hwiwn 1000 | 5 5000 PC
5.18 Ubkdwhwuwlh wdpnywwnnp puipn Zuwn 500 | 130 65000 PC
2.19 Uwtjwlwb wipnyuwnnp pupn Zuwn 50 250 12500 FC
5.20 Typnguulih pupn Zuin 40 55 2200 PO
521 Iunphppunynipjub ninkghp Zuwn 950 |8 7600 FC
5.22 Puwlsh gpuligdwb dl Zuin 100 |8 800 PC
5.23 Punywép wipnijuwnnp pupinhg hwwn 200 |9 1800 PR
5.24 2l 63 huin 100 | 40 4000 PLC

CLIUUTLL QLU @6 300000

1ENLUBR
6.1 Ulwyghlt 50 % 2u; upyjuly 200 | 25.03 5006 B
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650 | Yunnjufuninh hwintl 0.02 dq n/huitn 2000 |2 4000 |2
6.51 | Ywuywnwphy 254 /hurtn 1200 | 3.38 4056 | o2
6.52 Yuyghniuh gpnilntiwn 500uq n/hwn 1000 | 5.5 5500 CZ
0.53 2hnppinppehwghy 25Uq n/huin 90 |9 8100 G2
6.54 Utinpn; 4udq n/huin 600 |52 31200 (24
6.55 | Ukqhu $npunk 350004 npudk 1800 | 31.14 | 56052 4
6.56 | Uhnnluyd 50ug /huitn 300 |70 21000 T2
6.57 Utiptiguiqn 100uq n/hun 300 |29 8700 (24
6.58 Unijwjnhb 50uq n/hwin 900 | 11.79 10611 (74
6.59 Lnihypl] $npnk Sdq w uh n/hwn 300 | 168.84 | 50667 (o4
6.60 | Uhknhwhti 10ug npudk 250 |11 2750 2
6.61 | Lhuwunnhit 500000uy n/huitn 60 |11 660 T2
Q 6.62 T Npyndhin ywuwnkny n/hun 200 | 438 8760 CZ
6.63 | Mubljun] p/y 500/125uq n/huitn 40 |14 5640 a2
6.64 | Mhpwinnky 250uq n/huin 50 |162.35 |8118 G2
6.65 Mpbutnwbu  10/10uUq f n/huwn f 560 | 207 115920 CZ
666 | Mpbuwnmphnud p/yy 10uq | n/hunn 2900 | 143.98 | 417542 | oz
6.67 | Mpbuwnwphnud pluy Sug | p/hun 3300 | 112.69 | 371877 |cz
6.68 | Mpkniihqnint 5uq | p/hwn 300 |5.8 | 1740 |2
6.69 Mhpugbunud 400Uq n/hun 800 |[9.14 7312 CZ
6.70 Nwpwgbunudng 500uq n/hwun 1600 | 4.66 7456 CZ
6.71 ULuLpnununInL 2Uq n/hun 150 13.06 1959 (@74
b.72 Uwjpninuning 4uq n/hun 100 | 45.71 457 ] GZ
6.73 | Uktnunk n/huitn 100 | 4.07 407 c2
6.74 | Ukinwy U 35uq /huitn 1000 | 30.3 30300 c2
6.75 | Uwhphtmjwlwnti 25ug n/huitn 150 |5586 8379  |&z
6.76 | dhvnudhlt 8 500U /hurtn 700 |23 16100 Gl
6.77 | dhwnundhti 8 250uq n/huitn 800 | 1879 | 15032 B
1678 | dhtuyngkuwht Suq | p/hwn 500 |18.4 9200 B2
6.79 | Spmpwuughtt 100Ug | p/hwn 3000 [ 163 [ 48900 |cz
6.80 | 8hup-nphpli p/y 500Uq | p/hwn 400 |30.67 [12268 |z
6.81 | 8hwpndynpumght 250Uq | hun 250 | 16.57 | 4142 | &2
1682 | Outwpuiqn; 20Uq n/hwwn | 1300 | 102 13260 |2
| |683 | Sbpn-$mjgunim | g/ 160 |90 5400 | o2
6.84 dnjwppent 1dq n/hun 150 |6 900 (@24
6.85 | Shuwnuy n/hunn 900 | 283 25470 =
6.86 ‘ dnipnubilhy 40uq ‘ n/hwun 1500 | 3.3 4950 Gz
Uinlywly 10 % 30 | 2ohY 4 7135 | 285 e
Ulopuhljjun] 156.25uq 5u) 100d; | 3/ 50 | 1365 | 68250 cZ
| Udopuhljui $npunk 312uq 5u; 100u; n/yuu 30 |2400 [72000 oz
| Utlopuhghihti opuipualy 250ug 541 1004] | pohly 95 _|1075 | 102125 |o2
| Hhepuwlkpuignt whtluply 0.1% 100 | gohy 115 230 [3450 T2
| Ynluinp und opuipuy 1004} | 2ohYy |10 [77332 | 7733 B
| Epppndhghtih g, 200ug 51 100u; | 2ohly 110 [901.8 [o018 E
Juwunjunnh ngkpnipd 30U ‘ 2ohYy 3 ’ 90.8‘L272 ‘ (@24
1695 | 8nnh ngbpmpd 5 % 30U | ohYy 5 1725 [863 | G2
| 696 Nupughnuning_opwpul 125u; | ohYy 200 [497.7 [ 99540 |2 ]|
697 | Mhynihun opuipul 1504 | oohYy 5 [1525  [7e25 22 |




6.98 | 9puidtih wjbpopuhy 3% 1004, | 2ohy 550 |tz
6.99 Uwhpu pdojulimb 709% 1 1000 1000 (24
6.100 | Uyhpin pdojujult 96 % I 22h}y 10925 | 7648 Gz
6.101 | Unyduwyphis ogwnuily 100u; 22hly 30 487 14610 CZ
6.102_| dhwuht D3 gp. Lows 10 4y 2ohly 70 |1263  |88410 oz
6.103 | Skdwkpuhl 250uq 5 uj 1004 w40 | 900 36000 | o2
6.104 | 8kwqnihli 0.5 updurly (450 | 14196 | 63882 | oo
6.105 | 8kpuqmihti 1q upquly (300 | 13461 | 40383 |z
6.106 | 8pwnipwpuhnti 1 upyuly 30 140 4200 (o4
6.107 | Linphkpuhnht 5 % 1 oh 20 1000  [20000 |z
6.108 | Owhwupu wlwbgwluphy 150 Cohly 8 929.2 7434 [#4
6.109 | $kpnud (kY oguipuy 50uUq 5uj 1004 gohily 5 1980 9900 CZ
6.110 | Thljjuly nnunnn 5% 50q NMwplmg |5 1000 5000 CZ
6.111 | Ephppnuhght pumly 1 % 20q Nwplmg | 10 47591 | 4759 (24
6.112 | Uhtudjuila punty 0.025 % 15q —Flulpllnuﬁ l 10 417 4170 Gz
6.113 | Skwipughlyhta wltwpuniy 1 % 3q Zuwn 25 470 11750 CZ
6.114 | Phtnn ny unkply 7/14 | Zunn 60 1102 [e120 T2
6.115 ’ Fhgbphtih Undhlubp hwwn 100 | 90 ‘ 9000 GZ
6.116 I Lbnlng ny uinkphy Jwwnkpu Eunn , 300 | 15.77 ’ 4731 (e74
6.117 | Shpwsurh unbwnnulnunyg funn |1 2663.75 | 2664 | G2
6.118 | Lhpuiplhy wubnny 20u; hun 40 28.77 1151 ‘ CzZ
6.119 | Ukpwplhs wubnng 3u; Zunn 500 115 |5750  |@2
6.120 | Ukpuwinbhy wubnny Sy Zun 1200 [ 1122 [13464 |2
6.121 Lbpuiplhs wubnny 22Uy huwn 500 | 11.22 5610 CZ
6.122 | ‘Ukpuplhs wubnny 10U Zuun 400 | 175 7000 Gz
6123 | Syl dhugmt 2win 1200 | 4.55 5460 | T2
6.124 | Qbpuwswith pdoljuluity hun 3 242 726 CZ
6.125 Ujwphdhljuinnp hun 2000 | 4.11 8220 GZ
6.126 | Uybqulh 2.5 500ud | hurtn 20 [189 3780 cs
6.127 | Uwlwun]hy N 10 | ninuih 6 1436 |26 o2
6.128 | 8kwnwny inuhy 150dq | 2urn 200 | 5214 [10428 |
6.129 | Pulpuly qhgquig 50q | Qwptp |50 | 105 5250 2
| 16130 [ wphoudp pinphny 09% 2501 [huptp  [3 [28776 | 863 =

| 6.131

l Zujuluinunni pyub Wunguunwiynip ’ upyuly ’ 4

| 11000 | 44000

6.132

| Uniosbl whpdnpiw bphq

6.134

Ulni-sky wubnuulphs
ALS Ynih npnodwl wnkuwn 100

' 6.13@T 4nih npnodwt mkuwn 100

| ASO Jwnkpu wbutn 40

4 Ehihpnipht 100

Zuin 500 108 |54000

8000

8000

G2
(24

| c2

| 6.136

| 6.137

6138 | AF wwindtwnnp 100 mban 12000 [12000 | oz

\ 6.139 ‘ Qnijnquijh npnodwt tbkuw 2.100 ‘ nntth ‘ 8 ! 3500 428000 ‘ Gl

6140 | Iunjkuwnbphth nbun 200] 200t | Snuh |5 8000 | 40000 |cz

| 6.141 [ Guyghnud 2/500; | vinuh 12 [5100 | 10200 | o2

6142 | Ypbwinhl npootwl wham 200 | Snuh 12 [4800 | 9600 | o2

6143 | Olfunanhy $uljinnp 100 nkun | ninth 12 [7500 | 15000 | G2

| 6144 | THR-120 upnUpuwunhlih 6/4u; 200 | Snuh |4 [12000 | 48000 | G2
L { 6.145 ( C- nkwljnhy uyhwinuilnyg 100 wkuwn ’ wnntth l 2 J 7500 ’ 15000 ’ CZ




SR
6.146 | 50% nEnunndukpny uinynn nlnnpuyp - - 636851 T
CUIUUBLE  [3:800.000 %
2 OUNUSNRERBNPLLEN
1.1 El. Bubpghuyph Uwinwlupupnid 4yd 4301 | 41.85 180000
48.78
12 Puulfuli quqh dwinwljupupnud Tud 2243 | 156 350000
i3 ’?huﬂlmh qugh uywuwplnud Swuph 1 10000 10000
14 | Plwnbpltn Guy Suph 1 10000 | 120000
1.3 UPYUU spwigph uywuwplnid Suiph 1 72000 72000
1.6 BEpphph b wluwgpkph Swiph I 60000
wdwbnpyugnnipjnch
I Udgunnubpbbugh UMM, | Swph |1 [32000 | 32000
} 1.8 Fuuyuwhywhwlui wbdbwgnkph I wnunh l ’ 58000
dhwlbpynid
) | CLIVUBLE OUAUSNRRSARLUGE | f | 882000
L. UBLN8UL

U. QULU3UL



